
    Model: 

2017 

Call 1.800.237.6913 for questions regarding assembly or other inquires. 

         Product Type: 

The Hangar  

Directions: 
 

Step 1  Slide two lower supports together and bolt using 5/16x18x1½” bolts & lock nut. 
Step 2  Slide two upper support together and bolt using 5/16x18x1½” bolts & lock nut. 
Step 3  Bolt 4 wheels to base sides and tighten with 1/2” nut. 
Step 4  Bolt Lower Support to right & left Base Sides using 3/8”x3/4” bolts, lock washer    
             and nuts. 
Step 5  Slide Top Upright into Bottom Upright, no bolts are required. 
Step 6  Slide Upright  into right & left Base Sides, bolt using 5/16x18x3/4” bolt. 
            Do not tighten at this time. 
Step 7  Bolt Upper Support to Uprights using 3/8x3/4” bolt, lock washer & nut. 
            Do not tighten at this time. 
Step 8  Align by eye, tighten lower locking bolts, then tighten Upper Support bolts. 

Upper Support 

Top Upright 

Bottom Upright 

Base Side 

Lower Support 

Upright 

Wheels 

Step 1 

Step 2 

Step 3 

Step 5 Once step 5 

is complete 


